Balancing chemical equations

Chemical equation (the first is done for you) Reactant Product
atoms atoms
HCl(aq) + Mg(s) = MgCly(aq) + Ha(g) Cl=1 Cl=2
Mg=1 Mg=1
H=1 H=2
Balanced equation Cl=2 Cl=2
2HCl(aq) + Mg(s) = MgClx(aqg) + Hx(g) Mg=1 Mg=1
H=2 H=2
Na,COs(s) + HCl(aq) = NaCl(aq) + COx(g) + H,0(l) Cl= Cl=
Na = Na =
H= H=
= 0=
= C=
Balanced equation Cl= Cl=
Na = Na =
H= H=
= 0=
= C=
C3H3(g) + Oz(g) 9 COz(g) + HzO(l) = H=
= 0=
= C=
Balanced equation H= H=
= 0=
= C=
CaHs(g) + O2(g) = COa(g) + H20(1) H= H=
= 0=
= C=
Balanced equation = H=
= 0=
= C=
N2(g) + Ha(g) = NHs(g) = N =
H= H=
Balanced equation = =
H= H=
HzSO4aq) + AI203(aq) > AIz(SO4)3(aq) + HzO(l) = =
Al = Al =
Balanced equation = =
Al = Al =
Ag(s) + HxS(g) + 02(g) = AgS(s) + H20(l) Ag = Ag =
H= H=
Balanced equation Ag = Ag =
H= H=




